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INSTRUCTIONS

¢ Answer Question ONE and any other TWO questions.
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QUESTION ONE
a}  Write explanatory notes on the following:

i, Cosl of capital (2 Marks)
i, Weighted average cost of capital {2 Marlks)
i Capial structyre (2 Marks)
b) “Retained carnings represent o cost ~lree source of capital 1o a company™ State giving
reasons. whether you agree with the above statement. (6 Marks)

c) Nairobi Transporters [id. Have had a very 2ood trading period and they would like to extend
their business 1o make use of the favourable trading conditions.
They have planned 10 raise the additional finance from various sources as follows:-
< Toissue 160,000 Ordinary Shares (Shs. 1) nominal value) at Shs, 15 each
- Toissue 210,000 13% Prefence Shares (Shs. 10 pominat vitlue} at Shs, 12 ¢uch
= Toissue 210,000 15% Debeniures of Shs. 10N at Shs. 90 euch
- Finally they plan to raise g medium term loan of Shs. 3 million from g non-banking

financial institution which will be at nn interest of 20% pa.

Required:
i The wtal amount the company will raise if' the plan is renlized (6 Murks)
il The average cost of the additional finance (6 Marks)

N (1) Assume 5 COrporution X rute of $0%
(2) The ordinary sharcholders wre paid a dividend of 10%,
d} " Debt is the cheapest source of finance™. Expliin {6 Marks)

QUESTION TWO
a. Explain any FIVE SOURCES of inance available 160 an industyint concern. (10 Marks)
b, Discuss the welative advantages and disadvantages of regular dividend payments us

compared to a policy which relutes dividends more closely to cilmings. (1) Marks)



QUESTION THREE

4. Enumerate TWO advanlages and disndvantages of the fellowing Investmen) appraisal

technigues,
i- Met Present Valye (MNP (2 Markz)
ii. Internal Rae of Return (IRR) (2 Marks)

b Myaluoya Lid. Company iz considering 10 undertake g praject which requires initinl cost of Ksh,
B.500.000 and is expecied 1o pive the lollowing cash inflgws:

Year Ksh.

L. I.ROO.000
2, 2,500,000
3. 1000000
4, 2.500.000
5. 3.000.000

The project has salvage value of Ksh. | (00, 000, The company”s required rale of redurn is 108, Ag

a finance manager, advise he vompany. Your advice should be hased o0 computation of (he lollowing;

.. MNet Preseni Value(NPV] of the project (4 Markz)

ii. Prolilability Index( 1) {4 Mlarks)

i, Internal Raje Qr Returng TRz} [ & hlnrks)




QUESTION FOUR

a. State FIVE major limiting factors in application of ratio analysis. (5 Marks)

b. Majani Lid. Is an expanding private company in the Agriculiural seetor. Ag
January 2007 included the following information:

Profit statement for the year ended 31 !)cfccmbc;

2005 2006

Ksh. Ksh
Sales 2000 3200
Less cost of goods sold 1100 1R800
Gross profit 900 1400
Less: Trading expenses 450 350
Trading profit 450 850
Less: Debenture interest e Lk e
Net profit before taxation 425 825
less: Corporation Tay 160 _320
Net prefit afier taxation 265 305
Less: Ordinary share dividend 125 75

Undistributed profit for year 1480 330



Balunce Sheet as at 31 December

2005 2006 2008 2006
Sources of Capital  Ksh Ksh. Uses of capital ~ Kslhy Ksh.
Ordinary share Fixed Asseis
Cupital - authorized at Cosi 1000 1400
and Issued (£ 1 share) 500 500 Less:
Depreciation 2080 250
800 1150
Undistributed profit 350 gxo
10% Debentures 250 Lo
Current Assets:
Stocks 400 550
Debtors 250 350
Cagh &0 T30 - 900
" less: Current Liabilities
Creditory 145 200
Taxation 160 320
Proposed 125 175
dividend
Bunk Overdean - (430) 62 (760)
L1100 1290, 1100 1220

You are required 10 calculute the lollowing ratios for Majani Ltd:

i, Retwm On Capital Employed ( R.O.C.E ) ( 3Marks)
i, Gross I’rofit Percentage ( 3 Marks)
il Net Profit Percentage (3 Marks)
. Current Ratio {3 Marks)

v, Quick or Acid Test Ration, ¢ 3 Marks)




Balance Sheet as at 31" December

2005 2006 2008 2006
Sources of Capital ~ Kshy Ksh. Uses of capital ~ Ksh Ksh.
Ordinary share Fixed Assels
Cupital — authorized al Cost 1000 1400
and Issued (£ T share) 500 300 Less:
Depreciation 2030 250
800 1150

Undistributed profit 350 6RO

10% Debentures 250 |10
Current Assets:
Stocks 400 550
Debtors 250 350
Cash &0 T30 - 900
" Less: Current Liabilities
Creditory 145 200
Taxation 160 320
Proposed 125 175
dividend
Bank Overdeall - (430) 62 (760)
L1100, 1220, 1100, 1290

You are required 10 calculute the Tollowing ratios for Majani Lid:

i, Retum On Capital Employed ( R.O.C.E ) ( 3IMarks)
i Gross I'rofit Percentage ( 3 Marks)
iii. Net Profit Percentage (3 Marks)
. Current Ratip { 3 Marks)

v, Quick or Acid Test Ration. ¢ 3 Marks)




QUESTION FIVE
a) Discuss any FIVE faciors that govern the volume of working eapital that shoule b held by a
manuffcturing business concern. {10 Marks)
B (i) Explain any THREE cosis of currving slock that a business Concern May incur.

(6 Muarks)

(5} A company has a menthly demund of for Mierig] -p* ol 25000 Ky Per month. The cost price
per Kg is Ksh, 2000 and the siock nolding is 23% per month of (he value of the siock, Delivery cost
Per batch is Ksh.400,

Required: Caleulate Ereonomic Order Quantity (B0 4 Hm-kg}



